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OBJECTIVES

● To see how Mathematics is 
connected to everyday life.

● To introduce strategies used 
to solve word problems. 
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Everyday 

Life

Logical 

Reasoning 

developsconnected to

Acquire 

mathematical 

concepts and 

skills for 

everyday use

Develops thinking, 

reasoning and 

communication 

skills
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Mathematics



Syllabus Organisation

3 Content Strands

Number and 

Algebra

Measurement 

and Geometry

Statistics



• Students learning about whole numbers, fractions and 

decimals and use their knowledge in everyday situations. 

Word problems provide students with opportunity to apply 

mathematics concepts and skills in everyday situations
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• Students learn about length, mass, area, volume, time. This 

helps them develop skills of measuring and see the 

relevance in everyday situations.
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• Students learn the methods and tools to analyse and interpret data in 

graphs and pie charts so that the useful information can be used for 

decision making and understanding a situation. This is a practical aspect of 

mathematics that is relevant to everyday life and situations
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• STAR approach

- S ee what is given

- T hink of a plan

- A ct on my plan

- R elook and check
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QUESTION 1:

John bought a total of 20 oranges and apples for 

$9.40. Each orange cost 40 cents and each apple 

cost 60 cents. How many oranges did he buy?



No. of 

oranges

Cost of 

oranges

(40 cents)

No. of 

apples

Cost of apples

(60 cents)

Total Cost Check

($9.40)

10
10 x $0.40 

= $4
10

10 x $0.60 = $6 $4 + $6 = $10


11
11 x $0.40 

= $4.40
9

9 x $0.60 = $5.40
$4.40 + $5.40 = 

$9.80 

13
13 x $0.40 

= $5.20
7

7 x $0.60 = $4.20
$5.20 + $4.20 = 

$9.40 ✓

Answer : 13 oranges

Question 1: Guess & Check

John bought a total of 20 oranges and apples for $9.40. Each orange cost 
40 cents and each apple cost 60 cents. How many oranges did he buy?
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QUESTION 2:

In a test, there were a total of 40 questions. 

For every question answered correctly, a student was 

awarded 4 points. 

For each question answered wrongly, 1 point was 

deducted. 

If Anna scored 130 points, how many questions did 

she answer wrongly?



Question 2: Guess & Check
In a test, there were a total of 40 questions. For every question answered correctly, a 
student was awarded 4 points. For each question answered wrongly, 1 point was 
deducted. If Anna scored 130 points, how many questions did she answer wrongly?
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Correct 

answers

Marks 

awarded

Wrong 

answers

Marks deducted Total marks Check

(130 

points)

20 20 x 4 = 80 20 20 x 1= 20 80 – 20 = 60 

30
30 x 4 

= 120
10

10 x 1= 10 120 – 10 = 110


34
34 x 4 

= 136
6

6 x 1= 6 136 – 6 = 130
✓

Answer : 6 wrong answers
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QUESTION 1:

The total cost of 2 tables and 5 chairs is 

$2110.50. The total cost of 3 tables and 6 chairs 

is $2814. What is the cost of 1 chair?



QUESTION 1: Restate the Problem

The total cost of 2 tables and 5 chairs is $2110.50. The total cost of 3 tables and 6 
chairs is $2814. What is the cost of 1 chair?

2T + 5C → $2110.50

3T + 6C → $2814

1T + 1C → $2814 - $2110.50 = $703.50

3T + 3C → $703.50 x 3 = $2110.50

3C → $2814 - $2110.50 = $703.50

1 C → $703.50  3 = $234.50

The cost of 1 chair is $234.50.
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QUESTION 2:

4 pens and 7 exercise books cost $43.

4 pens and 3 exercise books cost $23.

Find the cost of 1 pen.



QUESTION 2: Restate the Problem

4 pens and 7 exercise books cost $43. 4 pens and 3 exercise books cost $23.

Find the cost of 1 pen.
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4P + 7E → $43

4P + 3E → $23

4E → $43 - $23 = $20

1E → $20  4 = $5

3E → $5 x 3 = $15

4P → $23 - $15 = $8 

1P → $8  4 = $2

The cost of 1 pen is $2.

7E → $5 x 7 = $35

4P → $43 - $35 = $8

1P → $8  4 = $2

OR
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Question 1:

The table shows the parking charges at a carpark.

Mr Tan parks his car from 11.30 a.m. to 2.00 p.m. 

How much will he have to pay?

Car Park Charges

For the first hour $2.50

For every additional  
1

2
hour $0.80



Car Park Charges

For the first hour $2.50

For every additional  
1

2
hour $0.80

11.30 a.m. to 12.30 p.m. → First h  - $2.50

12.30 p.m. – 1.30 p.m. → 2 x $0.80 = $1.60

1.30 p.m. – 2p.m. → $0.80

Total → $2.50 + $1.60 + $0.80 = $4.90

He has to pay $4.90

QUESTION 1: Rate of Charges

The table shows the parking charges at a carpark. Mr Tan parks his car from 11.30 
a.m. to 2.00 p.m. How much will he have to pay?
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QUESTION 2:
Shanti took a taxi from home to her office.

Her taxi fare was based on the charges shown. 

The taxi stopped once at a traffic light for 1 min and travelled a 

total distance of 5.8 km to reach Shanti’s office. How much was 

her taxi fare?

First 1 km

Every additional 400 m or less

$3.20

$0.22

Every 45 seconds of waiting or less $0.22

PSLE Question



QUESTION 2: Rate of Charges
Shanti took a taxi from home to her office.
Her taxi fare was based on the charges shown. 

The taxi stopped once at a traffic light for 1 min and travelled a total distance of 5.8 
km to reach Shanti’s office. How much was her taxi fare?
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First 1 km

Every additional 400 m or less

$3.20

$0.22

Every 45 seconds of waiting or less $0.22

5.8 km – 1 km = 4.8 km First 1 km → $3.20

4.8 km = 4800 m

4800 m  400 m = 12 (12 additional 400 m in 4800m)

For this 4800 m → $0.22 x 12 = $2.64

1 min = 60 s

60 s – 45 s = 15 s →$0.22

15 s → $0.22

$3.20 + $2.64 + $0.22 + $0.22 = $6.28

Her taxi fare was $6.28.



NO PHOTO TAKING OR VIDEO RECORDING DURING THE PRESENTATION. THANK YOU.

Question 3:

An adult entry ticket to a travel fair costs $3. 

For every 4 paying adults, the 5th adult receives a free 

entry ticket. 

What is the total cost of the 

entry tickets for 22 adults?



22 ÷ 5 = 4R2 (4 groups of 5 adults with 2 adults remaining)

1 adult → $3

4 adults → $3 x 4 = $12

(Cost of 1 group of 5 adults will just pay for the cost of 4 adults)

1 group of 5 adults → $12

4 groups of 5 adults → $12 x 4 = $48

$48 + $3 + $3 = $54  (total cost of 4 groups of 5 adults with 2 adults 

remaining)

The total cost is $54.

Question 3: Rate of Charges

An adult entry ticket to a travel fair costs $3. For every 4 paying adults, 

the 5th adult receives a free entry ticket. What is the total cost of the 

entry tickets for 22 adults?
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Question 1:

Raymond wanted to buy 8 T-shirts but he was 

short of $8.10. Instead he bought 5 T-shirts and 

had $12.60 left. How much would he need to pay 

for 20 T-shirts?



Amount of money Raymond had

8 T-Shirts

5 T-Shirts

$12.60 $8.10

$12.60 + $8.10 = $20.70

3 units = $20.70

1 unit = $20.70  ÷ 3

= $6.90 (1 T-shirt)

20 units = $6.90 x 20

= $138 (20 T-shirts)

He would need to pay $138.

Excess

(Left)

Shortage

(Short of)

Question 1 : Shortage & Excess

Raymond wanted to buy 8 T-shirts but he was short of $8.10. Instead he 

bought 5 T-shirts and had $12.60 left. How much would he need to pay for 20 

T-shirts?
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Question 2:

Ben had a sum of money. He wanted to buy 

12 pairs of socks but was short of $16. 

Instead he bought 7 pairs of socks and was 

left with $22.50. What was the cost of 1 pair of 

socks?



12 pairs

7 pairs

$22.50

$16 + $22.50 = $38.50

5 units = $38.50

1 unit = $38.50  ÷ 5

= $7.70 (1 pair)

1 pair of socks cost $7.70

$16

Excess

(Left)
Shortage

(Short of)

Question 2 : Shortage & Excess

Ben had a sum of money. He wanted to buy 12 pairs of socks but was short of $16. Instead 

he bought 7 pairs of socks and was left with $22.50. What was the cost of 1 pair of socks?
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Question 3:

Mr Lee gives a bag of sweets to each of his students. 

If he gives 13 sweets to each student, he is short of 

39 sweets. If he gives 9 sweets to each student, he is 

short of 3 sweets. 

(a) How many students does he have?

(b) How many sweets does he have altogether?



39 - 3 = 36 (The difference in the number of sweets that are short of for both 

scenarios) 

13 – 9 = 4 (The difference in the number of sweets given to each student)

36 ÷ 4 = 9

(a) He has 9 students. 

13 x 9 = 117 

117 - 39 = 78

(b) He has 78 sweets altogether. 

Question 3 : Shortage & Excess

Mr Lee gives a bag of sweets to his students. If he gives 13 sweets to each student, he 

is short of 39 sweets. If he gives 9 sweets to each student, he is short of 3 sweets. 

(a) How many students does he have?

(b) How many sweets does he have altogether?
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Question 1:

The number of black marbles to the number of 

white marbles was in the ratio 7 : 5. Mrs Tan 

gave away 39 black marbles and the ratio of 

the number of black marbles to the number of 

white marbles became 3 : 4. How many 

marbles did she have altogether at first?



Before:

B   : W

7   :  5

28 : 20

After: 

B : W

3  : 4

15 : 20

Question 1 : Ratio (One Unchanged Quantity)

The number of black marbles to the number of white marbles was in 

the ratio 7 : 5. Mrs Tan gave away 39 black marbles and the ratio of the 

number of black marbles to the number of white marbles became 3 : 4. 

How many marbles did she have altogether at first?
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(No change in white marbles)

X 44 x X 55 x

28 u + 20 u 

= 48 u (total at first)
28 u - 15 u = 13 u (difference in units of black marbles)

13 units = 39

1 unit = 39 ÷ 13 = 3

48 units = 48 x 3 = 144 (Altogether at first) She had 144 marbles altogether at first.



NO PHOTO TAKING OR VIDEO RECORDING DURING THE PRESENTATION. THANK YOU.

Question 2:

The ratio of the number of pupils in Room A to the 

number of pupils in Room B was 5 : 7. Then 36 

pupils from Room A moved to Room B. The ratio 

of the number of pupils in Room A to the number 

of pupils in Room B became 1 : 3. How many 

pupils were there in Room A in the end?



A   :  B           : T

1   :  3           : 4

3  :  9           : 12        

Question 2 : Ratio (Unchanged Total)

The ratio of the number of pupils in Room A to the number of pupils in 

Room B was 5 : 7. Then 36 pupils from Room A moved to Room B. The 

ratio of the number of pupils in Room A to the number of pupils in Room B 

became 1 : 3. How many pupils were there in Room A in the end?

There were 54 pupils in Room A in the end.
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(No change in total)
X 33 x

9u – 7u   = 2 u 

2u = 36

3 u = 
36

2
x 3

= 54

X 3

Before 

A  : B  : T

5  : 7  : 12

After
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Question 3:

John had some blue paper clips and red paper 

clips in the ratio of 5 : 7. He then bought 15 blue 

and 15 red paper clips. The ratio of the number of 

blue paper clips to the number of red paper clips 

became 3:4. How many paper clips did he have in 

all at first?



Before 

B  : R  : D

5  :  7  : 2

After  

B   :  R           : D

3   :  4           : 1

6  :  8            : 2        

Question 3 : Ratio (Unchanged Difference)

John had some blue paper clips and red paper clips in the ratio of 5 : 7. He 

then bought 15 blue and 15 red paper clips. The ratio of the number of blue 

paper clips to the number of red paper clips became 3:4. How many paper 

clips did he have in all at first?

John had 180 paper clips at first.
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(No change in difference)
X 22 x

8u – 7 u  = 1 u 

1u = 15

5u + 7u = 12 u

12 u = 15 x 12

= 180

X 2
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The word problems involve the following types:

❖ One Unchanged Quantity

❖ Unchanged Total

❖ Unchanged Difference
1
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A group of 40 students were asked to choose their favourite colour. 

The data was tallied in the table below.

Red Blue Yellow Green Orange

10 6 4 8 ?

Statement True False Not 

Possible 

to Tell

a 10 students chose orange as their favorite colour. 

b The fraction of the students who chose red, blue and 

yellow is  
1

2

✓

✓

12

10 + 6 + 4 = 20

20 is half of 40



50 students participated in an origami paper folding competition.

The table shows the number of students with the timings they clocked.

Time (sec) 55-59 60-64 65-69 70-74 75-79
80 and 

above

Number of 

students
8 12 15 5 7 3

Statement True False Not 

Possible 

to Tell

a) 30% of the students took at least 70 sec to fold their 

paper origami.

b) 20 students took 1 minute or less to fold their paper 

origami.

15

30% of 50 = 15

No other information to indicate the breakdown in 

number of students who finished folding

✓

✓



Andy and Betty were given some coins each. Andy was given 5 more 

coins than Betty. Andy was given twenty-cent coins and Betty was given 

fifty-cent coins.

Statement True False Not 

Possible 

to Tell

a) Betty gets fewer number of coins than Andy

b) The amount of money given to Andy was more than the 

amount of money given to Betty

2 x 20 cents

2 x 50 cents

5 x 20 centsA

B

$1.40

$1

5 x 20 cents

5 x 50 cents

5 x 20 centsA

B

$2

$2.50

✓

✓
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Question 1:

At a carnival, 
1

10
of the balloons burst and 35% of 

the balloons were given to some children. There 

were 220 balloons left. How many balloons were 

were there at first?



55 % → 220

1% → 220  ÷ 55  =  4

100% → 100 x 4 = 400

Question 1 : Mixed Topics – Fractions & Percentage

At a carnival, 
1

10
of the balloons burst and 35% of the balloons were given to some children. There were 

220 balloons left. How many balloons were were there at first?

There were 400 balloons at first.
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1

10
→ 10%

100% − 10% − 35%
= 55% (𝑙𝑒𝑓𝑡)
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Question 2:

There were a total of 263 strawberry buns and blueberry buns in 

Uncle Lim’s bakery. For the whole day, 41 strawberry buns and 

20% of the blueberry buns were sold. At the end of the day, the 

ratio of the number of strawberry buns to blueberry buns he had 

was 1:4.

(a) Express the number of blueberry buns sold as a fraction. 

(Give your answer in the simplest form.)

(b) What was the number of buns Uncle Lim had at the end of 

the day?

PSLE Question



20% →
20

100

= 
1

5
6u = 263 – 41 

= 222

5u = 
5

6
x 222

= 185

Question 2 : Mixed Topics – Ratio & Percentage 

There were a total of 263 strawberry buns and blueberry buns in Uncle Lim’s bakery. For the whole 

day, 41 strawberry buns and 20% of the blueberry buns were sold. At the end of the day, the ratio 

of the number of strawberry buns to blueberry buns he had was 1:4.

(a) Express the number of blueberry buns sold as a fraction. (Give your answer in the simplest 

form.)

(b) What was the number of buns Uncle Lim had at the end of the day?

(a) The fraction was 
𝟏

𝟓
.
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41

B

S

left left left left

left

sold

Sold
263

(b) The number was 185.
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Question 3:
The bar graph shows the number of books read by Class 6A from January 

to April. The number of books read is not shown on the scale.

(a) What was the percentage increase in the number of books read from 

January to February?
(b) The average number of books read in a month from January to April was 75. How 

many books did Class 6A read in April?

PSLE Question
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Question 3 : Mixed Topics – Percentage & Average

The bar graph shows the number of books read by Class 6A from January to April. The number of books 

read is not shown on the scale

(a) What was the percentage increase in the number of books read from January to February?

(b) The average number of books read in a month from January to April was 75. How many books did 

Class 6A read in April?

(a)
10

10
x 100% = 100%

The percentage increase was 100%

(b)  75 x 4 = 300 (total books)

10 + 20 + 8 + 22 = 60

300 ÷ 60 = 5

22 x 5 = 110

Class 6A read 110 books in April.

Jan Feb Mar Apr

N
u
m

b
e
r 

o
f 
b
o

o
k
s
 

re
a

d
0

PSLE Question
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Log in details can be found in 
student’s diary pg 38



















Q & A

https://forms.moe.edu.sg/forms/J69a9r

Feedback 

Form 

2025

Dear Parents, please use this QR code to 

provide feedback on the workshop. 

Thank you. 
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